Ve 9.2 ( (rnece o matifom &)
(1) Llx) = o(x™), Qlcl=X" , X7 () ; Ferle rmzm.

= "Lg(’c')‘f”(rg—(ﬁc)'—“-e()c”")j X— (7
(2) =06 (x™), x> X

< ™

Apravme . O G E] . /C,XM_M g (<)
X™ o

(%)  S——









it Al i) = (Ko b)) (e D
= XE-I-QB (A<”)+ Lo )+ &(&)U@C2> ) X—> o0

, 6’@(3’)
) = 7 / _ (opL)
g ) > +8(J<) 14 O L ol) 7 (

X fo

2 “
o (Ve Vg + W@;")

e (e )= Tt ak to(s) ,x »0(F)
=) @ = 1+ %«:]&Jc@(*af‘)
Sreg = Hggre ()
Vregn = 1 trgree (37)
= @’(%\ 43—»-("*2.”3 v a/(?-b) g(/l+ +ar }D

<2 (1 o) = Fl2toly) 2900
&~




Def. (e e Cmue,3) deppoti

Nete §4, Mecha” g,é CMM(@L(XMT“/ rechd”
e Pl 5) e P’ Phe IO meai X Ko

A5 () m
Rm-l:-q (}() — U (,\(,__..)(a) N
(M)







- | C =
g= Reol =1
X,
. (En—m\
Dl = — ) A
-—m!f— (Jc—-—--@

Rﬁx—l—/l kk\ —~ €)<- )3 g — e ” Xm+4
m — yye.
/

% =o (m»l—f}?_’
=7 | P be) | 2 ¢ 070 et

(m+f17,’

= ]ZM—M(*’C\ —= 0, m— o0 (/t’ /}%M/B




